H £ 0l & AF & S

Al A

20258 20ilah LEHSIH I EO0H !t
S COIFORQI D
A LIS BX(ARISR/ =)
Tl TAI2S AE L TMAAIY 29 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
L OIZOH Q! 1t 170,845,669 164,759,968 6,085,701
= 111,484,517
N 3,235,458
Jl 248,218
== 12,794,498
Al 41,531,329
= 1,551,649
CRISX ST ARSI/ c0l) 132,214,874 125,333,835 6,881,039
= 90,752,983
Xl 3,235,458
Jl 248,218
< 8,235,960
Al 29,706,118
= 36,137
A2 HE & FANE 29 372,937 346,856 26,081
SAES A8 A2 16,500 16,650 A150
201 fer= 3| 8,500 8,650 A180
01 At 2|l 8,500 8,650 A150
OSEHANE 28 LA 8,200
—&4xg 100,000 x15E 53] 7,500
— &40 70,0002 x2H+53] 700
Odd2at eaDid 2= & 4% MH
300,000 %14 300
301 EtE NS 8,000 8,000
11 AALAHIXIES 8,000 8,000
OZdi2st Al =8
100,000 x40 #2323 8,000
a3 2l 366,437 330,206 26,231
101 @124H| 88,112 58,141 29,971
M OIRIMZZ2NSE S 88,112 58,141 29,971
O=tdd 28 2% 86, 186
—JlZ2= 80,2403 x22 L x 12 x2H 42,367
—oizazsg
80,2403 x 1202 x150%*2H 28,887
-5+ 80,2403 532 x2H 8,506
—E =g 80,2403 x 1222 1,926
—EX= 2,250,0002 x2&H 4,500
Ost&d 2tz 3yl 1,926
—SEY FH NEHY S
80,2403 x2&H*x32 x42] 1,926
201 Ler23| 258,325 270,765 A12,440
01 At2teltl 36,220 36,730 A510
Ost&d 224 LI=H| & HNES 1,220




SN LCoIZ0felD
A LIS BX(ARISR/ =)
Tl TAI2S AE L TMAAIY 29 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—&gs 200,000 x2& 400
—orM st 50,0002 «2& ¢l 100
— 20t 30,0002 *2H 60
—QtHES R 30,0002 x2H 60
—&0tA3 3,000 *200H 600
Oar2 =&l 100,000& * 12 1,200
Ost&d 2el 12,200
—3EFE el 2258 PY
250,000 * 122 3,000
—SEY Y 2l 225 7Y
200,000 * 122 2,400
—otEE SAIFIE 22X itz
6,800,000 14 6,800
Ostdd =)l AIEZ
50,000 * 122 600
ol WWEd Hd+s==
21,000,000 * 10 £ 21,000
02 S3=4gHl 222,105 234,035 211,930
Ostdd &I AE&
1,500,0002 122 18,000
Ot MARBH AHZE
260,000 * 122 3,120
OSI%E AS|N B (46AZD, 145.4m)
5,000,000 1= 5,000
Os&d =082 HHI= Al
15,000,000& %271 30,000
Ozay HgEg FRU(SR)
1,347 1,000 £ *53] 6.735
O3tz d 313z 29 RRURBR)
1,51024+75 £ %1,400+ 158,550
O&slx HAH] 100,000 %52 500
O83al LG tASHE 50,0002 *4S 200
401 A2 HIRL 201 10,000 10,000
01 Al&H| 10,000 10,000
OUIIBHEAIE loTI1I] EXISAL
5,000,000& 271 10,000
LoI=X 58 115,539,208 109,710,065 5,829,143
= 90,248,481
N 3,223,286
= 4,443,256
Al 17,608,048
= 16,137
o=k 58 2,333,410 2,402,780 69,370
201 er2&| 40,510 40,180 330
01 At2teltl 37,510 37,180 330
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S COIFORQI D

M LIS BA(ARI=R/ =)

&2l LoI=X &8 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S=NEH2Y 718,855 1,109,400 A390,545

306 £= 718,855 800,000 A81,145
01 9= 718,855 800,000 A\81,145
OgzsRs2sE 29
718,855,000 * 14 718,855
(2)I=e=s N2 92,885,536 88,274,884 4,610,652
= 83,598, 161
= 1,857,475
Al 7,429,900
301 EtE2 N = 92,885,536 88,274,884 4,610,652
= 83,598, 161
S 1,857,475
Al 7,429,900
01 A2 HSFS(RRNEERTH) 92,885,536 88,274,884 4,610,652
OJl=¢gi3 K& 92,885,536,000& x 14 92,885,536
= 83,598, 161
& 1,857,475
Al 7,429,900
()olgdxiel ¢ ASIZSKIY =i 13,300,640 12,307,774 992,866
= 6,650,320
< 1,995,096
Al 4,655,224
101 @124H| 516,070 515,580 490
= 258,035
=S 77,410
Al 180,625
04 JIZtN2Z2 XS E+ 516,070 515,580 490
OeAzIgs X (dge) 30,070
=1k 2,096,000« 1&~12& 25,152
= 12,576
s 3,773
Al 8,803
—&A= 2,096,000& x1H 2,0%
= 1,048
s 314
Al 734
— XM &I 2,822,000& %12 2,822
= 1,411
=S 423
Al 988
OAzlgs K3 (SUSSEUHA) 486,000
—234l 290,0002 x150E « 11 478,500
= 239,250




S COIFORQI D
M LIS BA(ARI=R/ =)
&2l LoI=X &8 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 71,775
Al 167,475
—4H2E U MHSEE S
7,500,000 *14] 7,500
= 3,750
== 1,125
Al 2,625
201 eet23| 19,500 19,500 0
= 9,750
S 2,925
Al 6.825
01 Al22t2lH] 19,500 19,500 0
OLQMNSIEE N (ZUSSEHOR LY
Hl) 130,000 %150 19,500
= 9,750
< 2,925
Al 6.825
307 elztol & 12,765,070 1,772,694 992,376
= 6,382,535
< 1,914,761
Al 4,467,774
05 2IIRIE =3 12,765,070 11,772,694 992,376
Oelgiiel ¥ A2 2SXI2 A
12,765,070,000& » 14 12,765,070
= 6,382,535
< 1,914,761
Al 4,467,774
(D)=oMs ST 400,000 400,000 0
= 48,000
Al 362,000
307 el2to| & 400,000 400,000 0
= 48,000
Al 352,000
05 git?(& = 400,000 400,000 0
ORIZH20F QI TIRIAIY THeH] S X2
40,000,000& *14] 40,000
[ 12,000
Al 28,000
OAILIIZ2E 2% 360,000,000 * 14 360,000
= 36,000
Al 324,000
(D)E=R2ENESSAIY 101,280 0 101,280
=S 29,700
Al 69,300




2A:

X XH -
o=

ool ol & CERE)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 2,280
307 gI2Hol M 101,280 0 101,280
= 29,700
Al 69,300
= 2,280
05 QIZtRIEIS 101,280 0 101,280
OXREENEHESAY
101,280,000& 14! 101,280
= 29,700
Al 69,300
= 2,280
(D)oL EF=EMEIA 4,434,004 4,016,490 417,514
Xl 3,103,790
& 399,070
Al 931,144
307 212+01 ™ 4,434,004 4,016,490 417,514
Xl 3,103,790
= 399,070
Al 931,144
11 AR SXAMEEER 4,434,004 4,016,490 417,514
OLXESSSMEIAAY K&
4,434,004,0002 14 4,434,004
Xl 3,103,790
= 399,070
Al 931,144
(2)SHEFHHISS A A A 238,992 218,132 20,860
Xl 119,4%6
= 35,849
Al 83,647
307 QIZ2t01 A 238,992 218,132 20,860
Xl 119,4%6
= 35,849
Al 83,647
05 QIZtRIErZ 238,992 218,132 20,860
OSHLER SSUHMMHIA 29
X3 238,992,000 * 171 2 238,992
Xl 119,496
& 35,849
Al 83,647
(Z)RAE L HASEULE LR ED| 89,544 89,544 0
= 8,94
Al 80,590
307 2I2+01A 89,544 89,544 0
& 8,954




S COIFORQI D
M LIS BA(ARI=R/ =)
&2l LoI=X &8 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 80,590
1 MISXAEEE 89,544 89,544 0
ORolEt-ol AASRYY L o2
89,544,000 * 14! 89,544
== 8,954
Al 80,590
(D)ZZ2AERESAAY 439,490 399,360 40,130
= 43,949
Al 395,541
307 elzto| & 439,490 399,360 40,130
= 43,949
Al 395,541
1 AMISXAIEEXS 439,490 399,360 40,130
OzAY 2234
439,490,000 *14] 439,490
== 43,949
Al 395,541
(E)HSETEMASTHOHQIAANS 204,400 204,400 0
= 20,440
Al 183,960
307 elzto| & 204,400 204,400 0
= 20,440
Al 183,960
1 AMEISXAIEEXS 204,400 204,400 0
OHE=E MASTHIHQ! AAE
204,400,000 *14] 204,400
s 20,440
Al 183,960
(E)cona2s 24,000 32,000 28,000
= 3,043
Al 7,100
= 13,857
307 @I2t01 & 24,000 32,000 /8,000
[ 3,043
Al 7,100
= 13,857
1 AMEISXAIEEXS 24,000 32,000 28,000
Okolua 29 24,000,000 * 14! 24,000
s 3,043
Al 7,100
= 13,857
(D)olzstEsiH 5,600 5,600 0
s 1,680
Al 3,920




FA I OoNer 1t
M LIS BA(ARI=R/ =)
&2l LoI=X &8 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 5,600 5,600 0
= 1,680
Al 3,920
11 AMEISXAIEEXS 5,600 5,600 0
ovvostsst=d
3,000,000 * 10 2= 3,000
=S 900
Al 2,100
OYOYOS -3t
1,300,000 294 2 2,600
S 780
Al 1,820
d2d =2gMY 4,668,789 4,384,596 284,193
= 504,502
J| 248,218
=S 420,374
Al 3,495,695
d2Y 29 1,132,310 1,041,500 90,810
201 2= 60,310 55,500 4,810
2 S22l 60,310 55,500 4,810
OZRY MI|OHE H
70,0002 %3709 2+12] 25,900
OF2Y MUBE It
93,0003 #3704 2 34,410
301 EetE2 NS 154,000 146,000 8,000
02 A EE A S(FANE, XLETHE) 154,000 146,000 8,000
OAlIXIZl & 22d2Y 29|
300, 0002 x200 A-*43] 24,000
OFzg 2= XL
1,000,000 *130H 2~ 130,000
401 Al HIZ S 0HbI 400,000 190,000 210,000
01 Al&H| 400,000 190,000 210,000
0324 al=x 400,000
—S8H 23F2Y A=F(2R1E SEXF
neI3) 400,000,000 %17 2 400,000
402 212 X201 & 518,000 650,000 132,000
01 QI X2 AL E A (KHMTHE) 518,000 650,000 /132,000
O32E Ex(E2xs 3Y)
5,000, 0002 *1009H £ 500,000
OZ2g AF(FIH(EXE FYH)
18,000,000 * 10K 2~ 18,000
(222U L 22X A 1,009,004 880,782 128,222
= 504,502
= 151,351
Al 363, 1561




SAT OIEOfI T
M LIS BA(ARISR/ )
ol B2Y SSAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 21,888 14,800 7,088
= 10,944
== 3,284
Al 7,660
01 AR 2EHSHS(RNEXRTHE) 21,888 14,800 7,088
OZ2g FF = sl
2,400 760+ 123 21,888
= 10,944
== 3,284
Al 7,660
307 lztol & 987,116 865,982 121,134
= 493,558
== 148,067
Al 345,491
10 AlRISTIAEEE 22X 987,116 865,982 121,134
OZ2g 4Lt & 2f=dl X2
987,116,000 x14] 987,116
= 493,558
s 148,067
Al 345,491
)3z X 1,005,100 1,005,100 0
S 100,510
Al 904,590
307 lztol & 1,005,100 1,005,100 0
= 100,510
Al 904,590
10 Al SXAAEEHE 22X 1,005,100 1,005,100 0
ogdzg N 1,005, 100,000 » 14 1,005,100
= 100,510
Al 904,590
(DIANZE2EXNERRSKR 6,600 6,600 0
[ 1,980
Al 4,620
301 LELE NS 6,600 6,600 0
== 1,980
Al 4,620
11 dAMEEIXIE S 6,600 6,600 0
OAZZ2g NEXLE K
150,000 *44H 6,600
= 1,980
Al 4,620
FNI2Y =LY XA 909, 151 907,224 1,927
Jl 248,218
= 24,523




S COIFORQI D
M LIS BA(ARISR/ )
ol B2Y SSAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 636,410
307 gl2tol & 909, 151 907,224 1,927
Il 248,218
= 24,523
Al 636,410
11 AMEISXAIEEXS 909, 151 907,224 1,927
OZRY #=HML XA
909, 151,000 * 14 909, 151
Jl 248,218
= 24,523
Al 636,410
(£)cols AIZR3E -3t X2 10,000 10,000 0
= 3,000
Al 7,000
307 @120l & 10,000 10,000 0
== 3,000
Al 7,000
11 AMRISXAEEES 10,000 10,000 0
OUet =23 HFAIKI B 2 E A J
10,000,000 * 14| 10,000
= 3,000
Al 7,000
(D) =zze 29 346,390 346,390 0
= 103,900
Al 242,490
307 @120l & 346,390 346,390 0
== 103,900
Al 242,490
11 AR SXAIEE X 346,390 346,390 0
od=d2d 29 346,390,000& x14] 346,390
< 103,900
Al 242,490
(D)ZEEHEAHSL AR 57,034 0 57,034
= 17,110
Al 39,924
307 el2to| & 57,034 0 57,034
= 17,110
Al 39,924
1 AMISXAIEEX 57,034 0 57,034
OZ2E02ad=E R
57,034,000 * 14! 57,034
& 17,110
Al 39,924
(C)E2EATHALSIAY 60,000 67,000 27,000




S COIFORQI D
M LIS BA(ARISR/ )
ol B2Y SSAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 18,000
Al 42,000
402 QIF X201 & 60,000 67,000 A7,000
= 18,000
Al 42,000
02 QI A2 AL E R (0IHTHE) 60,000 67,000 AT7,000
OYZZ AWAASTAY
60,000,000 * 14 60,000
=S 18,000
Al 42,000
KNSEASAXERE EsHl X 133,200 0 133,200
301 22N = 133,200 133,200
14 JIEt2 8= 133,200 133,200
OXGSAXN R &St X
30,0003 %3700 A+ 12002 133,200
ARIZXIAIE X2 11,633,940 10,892,318 741,622
N 12,172
< 3,372,330
Al 8,229,438
= 20,000
MEISEXIAE XIE 1,509,363 1,371,851 137,512
201 et 3| 12,000 12,000 0
03 A2 I 12,000 12,000 0
OFILLRY Az g u=x
6,000,000& <22 12,000
301 EtE NS 59,520 55,800 3,720
02 A2 EH 2GS (FHAAHS, XNLWE) 59,520 55,800 3,720
OZZ & A Al2ISAAE 42k A2
16,0003 x 1,240 x33] 59,520
307 @I2t01 & 1,361,843 1,264,051 97,792
05 212+ = 1,123,043 1,061,651 71,392
Ookel=sX2 2E K&
1,123,043,000& * 11 2 1,123,043
11 AMEISXAEEES 238,800 212,400 26,400
OLQIXSESAMHIASA nSH| X3 (2
LE 3% 100,000 1942 x 122 232,800
OS AL SSHMMAAHIA SAH
A =g NA(2XE8 FH) 6,000
— St 150,000& x2&* 123 3,600
— Sl 100,000& x2&* 123 2,400
401 Al HIZL 201 76,000 40,000 36,000
01 Al&H| 76,000 40,000 36,000
OLosX2AgES 76,000
— &8I 54,000,000 * 14 54,000




2A:

A LIS B (ARISR/ =)
Rl AlRISXIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—XTESETY Y gy
22,000,000& * 1A 22,000
QI AS ALK 223,200 234,000 10,800
301 EtE2 NS 223,200 234,000 10,800
02 A EEAHS(FANE, XLTHE) 223,200 234,000 10,800
OBIILYRA BAX 25 X
30,0002 x620& * 122 223,200
(Z)LZAE2S X2 (HEALY) 1,141,000 1,100,000 41,000
< 785,000
Al 336,000
= 20,000
307 21201 & 1,141,000 1,100,000 41,000
== 785,000
Al 336,000
= 20,000
05 212t =S 1,141,000 1,100,000 41,000
OLdZAE =28 X2
1,141,000,0002 170 A 1,141,000
== 785,000
Al 336,000
= 20,000
(D)MW= ISTAE RS 210,000 200,000 10,000
== 21,000
Al 189,000
307 212+01& 210,000 200,000 10,000
[ 21,000
Al 189,000
10 Al2ISTIAIEEE 22X 210,000 200,000 10,000
OMIH=QI=TIAE 29
210,000,000 * 100 2 210,000
= 21,000
Al 189,000
(D)1 0L N 7,364,333 6,829,507 534,826
s 2,209,299
Al 5,185,034
301 EtE NS 7,364,333 6,829,507 534,826
[ 2,209,299
Al 5,185,034
02 MBI 2HEHSFHS(HAANS, KLHE) 7,364,333 6,829,507 534,826
oFIIYI2 SoLIS XA
7,364,333,000& x 14 7,364,333
= 2,209,299
Al 5,155,034
(L)) ASSAX SUHHISXE 169,840 272,150 /102,310




A =OIZHOHOI Dt
KXH- Lo
o=

=Rl ARISXIAIE X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 50,952
Al 118,888
301 EtE NS 169,840 272,150 /102,310
= 50,952
Al 118,888
02 ARSI X LGS (FHAAHS, NSWE) 169,840 272,150 102,310
oFJIeeIa S22l S0Hls NE
169,840,000 *14] 169,840
=S 50,952
Al 118,888
(Z) ==X AIE S AR & 910,560 660,240 250,320
< 273,168
Al 637,392
301 EtE NS 910,560 660,240 250,320
= 273,168
Al 637,392
02 A2 X LGS (FHAAHS, XNLWE) 910,560 660,240 250,320
OLQSXAIE SAH =& A&
140,000 x642& * 122 910,560
S 273,168
Al 637,392
(RN I2EIINEELX 24,344 0 24,344
N 12,172
= 8,521
Al 3,651
402 2I2F X201 & 24,344 0 24,344
Xl 12,172
= 8,521
Al 3,651
02 QI X2 AL E R (01X THE) 24,344 0 24,344
OFIIy|2 SJIAE X X
24,344,000 x14] 24,344
Xl 12,172
= 8,521
Al 3,651
(Z)QISXAIE BALR SXIEZQIE R 81,300 51,100 30,200
=S 24,390
Al 56,910
307 21201 & 81,300 51,100 30,200
< 24,390
Al 56,910
11 AMEISXAEEES 81,300 51,100 30,200
OLCISXIAIE SAL SXEZE K&
150,000& x542H 81,300




2A:

HI: Lol=X| SZ(ALEI=X/=0)
=Rl ARISXIAIE X2 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
= 24,390
Al 56,910
ZOHRISX S (ALISXI/FHLHSKIH) 38,462,682 39,269,937 AT87,255
2 20,731,534
== 4,558,538
Al 11,677,098
= 1,515,512
Zofel=x =& 38,482,682 39,269,937 AT87,255
2 20,731,534
== 4,558,538
Al 11,677,098
= 1,515,512
ZOHOISXIAIY X 342,516 334,262 8,254
201 YEH2HH| 73,004 63,762 9,33
01 AFR2+2H| 73,004 63,762 9,3%
OFOHAIRSKHEX P&
1,300 %105 +500H 650
OXNAFSFXNTY 228 L PQHES
HI= 1,000,000 %14] 1,000
O3] 3124z S0 M=
70,0002 53] 350
OXOMHAISSXY +SZXAACIYY AAF &
=] 100,000 6% * 123 7,200
OXOHQICHH AFRA ARIZ XA
550,002 +87H A 124 52,800
OXOHQIBOALAIO|2 RS 5
10,0002 62 *23] 1,200
OXMNA=XSE SBX AT M=
10,0002 %350 3,500
O NSEHP SEENL 42| L 2
Gl:] 80,0002 107H A 800
OZZHAXSXIAHE QI2+SIEHHA
o2 1,010
—E g 100,000 *8 2 *13] 800
—ZA04H 70,0002 x3% %13 210
O SSSHELE S
3,820 %1002 * 128 4,584
301 YEHEAIB 9,422 8,500 922
02 A 2RH S (FLAHS, NLH) 8,500 8,500 0
O0&ZR SAXIZZ XA 8,500
— 20N BTt AEH OIS E 0RO
1,500,002 *3 4,500
—Z0i BEIF AGHKl 242 KT N
1,000,002 *4% 4,000
14 JIEt2 A2 922 0 922
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MEE
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2A:

3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHeI=X S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 526,832 483,714 43,118
OZOHI =X L X2l Ak
526,832,000& x 14 526,832
= 263,416
< 79,025
Al 184,391
()FA LRI XIS (Lot LX) 661,628 650,566 11,062
= 330,814
[ 99,244
Al 231,570
101 @124H| 660,308 649,246 11,062
= 330, 154
== 99,046
Al 231,108
% OIRIH2ENSE S 660,308 649,246 11,062
ORI LSS U t2| AL
660,308,000 * 14 660,308
= 330, 154
s 99,046
Al 231,108
201 Ler23 | 1,320 1,320 0
= 660
=S 198
Al 462
01 Al 2218l 1,320 1,320 0
OBOIN B &2 X
1,320,000 *14] 1,320
= 660
=S 198
Al 462
(2)Z 0l L X2l K (AR Kt2l) 165,408 162,652 2,7%
= 82,704
S 24,811
Al 57,893
101 21AH| 164,748 161,992 2,7%
= 82,374
= 24,712
Al 57,662
04 JIZtNZ22 XS E 164,748 161,992 2,7%
OZoHI LB (Al Iﬂ) Xt
164,748,000 * 14! 164,748
= 82,374
= 24,712
Al 57,662




A R==t P10 ReTi
X

3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHeI=X S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 660 660 0
= 330
== N9
Al 231
01 At22telt] 660 660 0
O HE d= XA
660,000 14| 660
= 330
== N9
Al 231
()EHIHAZSHXZS 4,947,131 5,010,301 263,170
= 3,462,992
== 445,242
Al 1,038,897
301 22N = 4,947,131 5,010,301 A63,170
= 3,462,992
= 445,242
Al 1,038,897
01 Al EE A S(FRDEXA) 4,947,131 5,010,301 A63,170
Oz X&
4,947,131,000& x14] 4,947,131
= 3,462,992
= 445,242
Al 1,038,897
(2= OIx) N= 842,597 785,915 56,682
= 589,818
= 75,834
Al 176,945
301 EtE2 NS 842,597 785,915 56,682
= 589,818
= 75,834
Al 176,945
01 Al EE AT Z(2DEXR) 842,597 785,915 56,682
OFH=+==(0Ix) XA
842,597,000 x 14 842,597
= 589,818
= 75,834
Al 176,945
(B (a2 S) K= 397,233 390,127 7,106
= 278,063
= 35,751
Al 83,419
301 EtE NS 397,233 390,127 7,106
= 278,063




SN OIFORQI D
M HOHRISK SE(ASISX/HLHEXH)
oels ZoieI=EX Sd (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 35,751
Al 83,419
01 Al B& X Z2(2REETA) 397,233 390,127 7,106
OB O+H(XHAISI) X2
397,233,000 & 14! 397,233
= 278,063
= 35,751
Al 83,419
(2)EIESXASHAE 8,473,657 10,625,463 A2,151,806
= 5,931,560
= 762,629
Al 1,779,468
307 212+01 A 8,473,657 10,625,463 A2,151,806
= 5,931,560
& 762,629
Al 1,779,468
05 QIZtAEr2 8,473,657 10,625,463 A2,151,806
O&el ESXAS0(H<H)
8,473,657,000& x 14 8,473,657
= 5,931,560
T 762,629
Al 1,779,468
()ESEX 20 95,616 80,987 14,629
= 66,931
T 8,605
Al 20,080
307 2I2+0l™ 95,616 80,987 14,629
= 66,931
& 8,605
Al 20,080
05 QIZIRIErZ 95,616 80,987 14,629
OFel 52X IMZ0(BIRH)
95,616,000& *14! 95,616
= 66,931
& 8,605
Al 20,080
(2)LLTHE M ALK X2 406,100 379,472 26,628
= 284,270
& 36,549
Al 85,281
307 212+01™ 406,100 379,472 26,628
= 284,270
= 36,549
Al 85,281




2A:

3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHeI=X S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 406,100 379,472 26,628
OZLTHEAEIA (BH2H)
406,100,000 » 14 406,100
= 284,270
< 36,549
Al 85,281
()= SHEIAXIZ 1,468,100 1,576,424 108,324
= 1,027,670
[ 132,129
Al 308,301
307 lztol & 1,468,100 1,576,424 108,324
= 1,027,670
== 132,129
Al 308,301
05 2IR”tRIE = 1,468,100 1,576,424 108,324
ORLHMEl EAHEAHHIA X2
1,468,100,000& x14] 1,468,100
= 1,027,670
s 132,129
Al 308,301
()L USSSMEIAXA 37,286 116,373 AT9,087
= 26,100
=S 3,35
Al 7,830
307 21201 & 37,286 116,373 AT9,087
= 26,100
= 3,35
Al 7,830
05 212+ = 37,286 116,373 AT9,087
OBAWE LTSN YUSHE MUIAK
el 37,286,000 * 14! 37,286
= 26,100
= 3,3%
Al 7,830
(VENEZAAMAE 22 1,702 1,102 600
= 851
= 255
Al 596
301 EtE N = 1,702 1,102 600
= 851
= 255
Al 5%
01 A2 HSFS(RNEERTHE) 1,702 1,102 600
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SN OIFORQI D
3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHeI=X S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 167,955
=S 12,597
Al 29,392
(D)2 SSLEHMAF2IHEN XA 288,007 228,822 59,185
= 144,004
= 43,201
Al 100,802
307 @12t0| & 288,007 228,822 59,185
= 144,004
= 43,201
Al 100,802
11 AMEISXAIEEXS 288,007 228,822 59,185
Oz SSLEHMIF2DHE XIS
288,007,000 * 10 £ 288,007
= 144,004
= 43,201
Al 100,802
(F)2SEFLAE1HIRH X 205,034 0 205,034
= 143,524
= 18,453
Al 43,057
307 el2tol & 205,034 0 205,034
= 143,524
& 18,453
Al 43,057
05 2IMRIE =3 205,034 0 205,034
OzlS&F2AAE 1 1B
205,034,000 * 100 £ 205,034
= 143,524
< 18,453
Al 43,057
(E)EoHesSEXXE 506,130 517,905 A,775
= 101,226
Al 404,904
307 gl2to| & 506,130 517,905 A,775
=S 101,226
Al 404,904
05 git?(& = 506,130 517,905 A1,775
oFasEx =it K&
506,130,000& *14] 506,130
< 101,226
Al 404,904
(D)0 E stolA 2SI 25 3,036 2,3% 641
= oM




A olEolel D
3 ZOHA=SA ST (ARSA/HLAHSKI)
oelr ZofeI=EX S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,125
301 EtE NS 3,036 2,3% 641
=S an
Al 2,125
02 ARSI SE AT S(FIANS, XLETHE) 3,036 2,3% 641
OIS otOIHAZHHZI| 25
3,036,000 *14] 3,036
< a1
Al 2,125
(D)=s0RSE4ERREsIR 12,000 10,954 1,046
= 1,800
Al 10,200
307 @20l & 12,000 10,954 1,046
=S 1,800
Al 10,200
10 Al SXA2EE 22X 12,000 10,954 1,046
Os0lISEAe $SXY
12,000,000 * 14! 12,000
< 1,800
Al 10,200
(DIXHFHAX A2 210,000 190,000 20,000
= 42,000
Al 168,000
307 el2to| & 210,000 190,000 20,000
S 42,000
Al 168,000
10 AlRISXAZEHE 22X 210,000 190,000 20,000
OXEZHAXZHE 2
210,000,000 * 194 2 210,000
[ 42,000
Al 168,000
(S)HOHAHAA L EX XA 133,085 130,000 3,085
= 26,617
Al 106,468
307 elzto| & 133,085 130,000 3,085
S 26,617
Al 106,468
10 AlRISXAZEHE 22X 133,085 130,000 3,085
OZABEAALXNEEEH =2
133,085,000 * 11 2 133,085
< 26,617
Al 106,468
(S)HOHA=XIXIE A 653,000 603,000 50,000
= 130,600




A =QIE0HRI Dt
M ZOI=SX ST(ASSX/HAAHSKH)
ool FojRI=X =X (crol: m2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 522,400
307 gI2Hol M 653,000 603,000 50,000
= 130,600
Al 522,400
10 AIEISXAIEHE2GHIEX 653,000 603,000 50,000
OuSADNEAE AL
130,000,000 *17H 2 130,000
= 26,000
Al 104,000
O N HESH X &AL
102,500,000 * 104 &~ 102,500
T 20,500
Al 82,000
OXBE OIS A EAS
65,000,000 *1JH 2 65,000
= 13,000
Al 52,000
ORXIMZ NI & XHE K& A
73,000,000 100 2 73,000
& 14,600
Al 58,400
OXIMZE ORI = XIKIA A
65,000,000 *1JH 2 65,000
= 13,000
Al 52,000
OZOHI A UK R A
62,500,000 104 & 62,500
= 12,500
Al 50,000
OZOHRIIHIHHIZ M &
50,000,000 *1IH 2 50,000
= 10,000
Al 40,000
OF=ZOHCITHE X RAALS
105,000,000 =104 2~ 105,000
T 21,000
Al 84,000
(SN2 EHF OIS X R AL 62,500 55,000 7,500
= 12,500
Al 50,000
307 212+01 A 62,500 55,000 7,500
= 12,500
Al 50,000
10 Al SXAIEHE2ZHIEX 62,500 55,000 7,500




SN OIFORQI D
3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHeI=X S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O HHEN IS XA
62,500,000 * 100 2 62,500
= 12,500
Al 50,000
(SIAIZAHMEOHRI THEH & E ALY 60,000 52,500 7,500
== 12,000
Al 48,000
307 212+01& 60,000 52,500 7,500
[ 12,000
Al 48,000
10 AlRISTIAIEEE 22X 60,000 52,500 7,500
OAHNZ NI HE & E AL
60,000,000 *1IH 2 60,000
= 12,000
Al 48,000
(2)ANZEHONLIDISXJAME 2 173,725 170,000 3,725
s 34,745
Al 138,980
307 212+01& 173,725 170,000 3,725
& 34,745
Al 138,980
10 Al2ISTIAIEEE 22X 173,725 170,000 3,725
OZIIEXHHE 29
173,725,000 100 2 173,725
= 34,745
Al 138,980
(DAL EHE I AMASHRI BTALLY 12,500 12,500 0
=S 2,500
Al 10,000
307 21201 & 12,500 12,500 0
< 2,500
Al 10,000
10 AlRIS XA EEE 22X 12,500 12,500 0
OLIEHY A A SHCIS AL
12,500,000 * 100 2~ 12,500
= 2,500
Al 10,000
(Z)LETMAVES LR 10,000 10,000 0
=S 2,000
Al 8,000
307 @12t01 & 10,000 10,000 0
== 2,000
Al 8,000
10 Al2ISTIAIEEE 22X 10,000 10,000 0




2A:
X XH -
o e

el

- HyS

Ofl &F2H

MEE
Ofl &k2h

10,000,000 * 10 A

H

10,000
2,000
8,000

hoH

=

87,500
61,250

7,875
18,375

83,186

4,314

307 212+01™

hoH

=

87,500
61,250

7,875
18,375

83,186

4,314

ONWdHMHA WEXI2

10 MaISXAIEHE2EH

8x

87,500,000 & x14!

hoH

=

87,500

87,500
61,250

7,875
18,375

83,186

4,314

]
03
>
0
02
>
i
o
02
-
0

hoH

2,580,000
1,805,000
775,000

2,485,000

95,000

307 212+01™

hoH

2,580,000
1,805,000
775,000

2,485,000

95,000

2,580,000,000& * 14!

Mo

2,580,000

2,580,000
1,805,000
775,000

2,485,000

95,000

hoH

=

8,647,908
6,053,549

778,313
1,816,046

8,299,973

347,935

307 212t01™

Mo

8,647,908
6,053,549

778,313
1,816,046

8,299,973

347,935

10 Al SXIAIEEHE 2

OZOHL! HFAIE 2

&H
o
o

| -

EES

8,647,908,000& 14!

8,647,908

8,647,908
6,053,549

778,313
1,816,046

8,299,973

347,935

1,882

1,882




SN OIFORQI D
3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHeI=X S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,129
=S 226
Al 5271
307 @I2to| & 1,882 1,882 0
= 1,129
= 226
Al 527
1 AMISXAIEEXS 1,882 1,882 0
OZOAANFAIE SIIEE)| dEXE
941,000 x20H A 1,882
= 1,129
= 226
Al 527
(D)SEZMATE XA HH2S ALY 262,288 238,483 23,805
== 41,966
Al 220,322
307 212+01& 262,288 238,483 23,805
[ 41,966
Al 220,322
05 2IZtAE = 262,288 238,483 23,806
O NEX2HH 24
262,288,000 100 2 262,288
= 41,966
Al 220,322
(SIAMBISXAE S AR 62,160 60,480 1,680
s 18,648
Al 43,512
301 EtE NS 62,160 60,480 1,680
[ 18,648
Al 43,512
02 MBI 2HHSFHS(HAANS, KLHE) 62,160 60,480 1,680
OAMBISRANEBAR S (HAUQAAIL)
140,000& 37 E* 12& 62,160
= 18,648
Al 43,512
(Z)ASISXAEBAR=RZERR 5,550 3,600 1,950
=S 1,665
Al 3,885
307 21201 & 5,550 3,600 1,950
< 1,665
Al 3,885
11 AMEISXAEEES 5,550 3,600 1,950
OAIZISXIAIZESAIIS R ZAEX R (F A
QAAE) 150,000 +37& 5,550




SN OIFORQI D
3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHeI=X S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,665
Al 3,885
(Z)ZOHRISXIAE SAK =< 399,840 399,840 0
= 119,952
Al 279,888
301 EtE NS 399,840 399,840 0
=S 119,952
Al 279,888
02 ARSI 2E A S(FANS, XLETHE) 399,840 399,840 0
OZOMASXAIE SAHA =
140,000 x238& * 122 399,840
< 119,952
Al 279,888
(S)HMHA=ZXIAESAN=EXNZAERRA 35,700 23,800 11,900
= 10,710
Al 24,990
307 el2to| & 35,700 23,800 11,900
= 10,710
Al 24,990
11 AMISXAIEEX 35,700 23,800 11,900
OHOA=XAIE SAEL SXEZLIEXHA
150,000 238 35,700
[ 10,710
Al 24,990
(S)ZOHRITOIISKISAHIEH2 G XA 141,060 137,800 3,260
= 21,159
Al 119,901
307 elzto| & 141,060 137,800 3,260
S 21,159
Al 119,901
10 MEISXAEHE2EHIEX 141,060 137,800 3,260
OFMAMII=SXSAHE 29
141,060,000 * 14! 141,060
[ 21,189
Al 119,901
(Z)ERIFUESAIERY 661,429 425,198 236,231
= 112,443
Al 548,986
307 el2tol & 661,429 425,198 236,231
= 112,443
Al 548,986
10 AlISXAZEE 22X 661,429 425,198 236,231
OZU=2LESAIE 29
661,429,000 *14] 661,429




SN OIFORQI D
3 ZOHA=SA ST (ARSA/HLAHSKI)
oels ZoieI=EX Sd (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 112,443
Al 548,986
(DIAZHESE=SX22H 1,545,512 1,446,102 99,410
= 30,000
= 1,515,512
307 gl2to| & 1,545,512 1,446,102 99,410
=S 30,000
= 1,515,512
05 git?(& = 1,545,512 1,446,102 99,410
OFAZE =2 2
1,545,512,000& x14] 1,545,512
< 30,000
= 1,515,512
(DIAAFSHUETRHEHSY 234,325 234,325 0
= 46,865
Al 187,460
307 el2to| & 234,325 234,325 0
= 46,865
Al 187,460
10 MEISXAEHE2EHIEX 234,325 234,325 0
OAIZE I SHEXHHE 2
234,325,000 x14] 234,325
[ 46,865
Al 187,460
(D)= S2HE2Y 284,261 254,634 29,627
= 48,324
Al 235,937
307 elzto| & 284,261 254,634 29,627
= 48,324
Al 235,937
10 MEISXAEHE2EHIEX 284,261 254,634 29,627
Ox=0S9Hde 29
284,261,000& *10H 2~ 284,261
[ 48,324
Al 235,937
(D)HHAXATHEAE 2L 1,442,741 1,389,152 53,589
= 201,984
Al 1,240,757
307 el2tol & 1,442,741 1,389,152 53,589
= 201,984
Al 1,240,757
10 MEISXAAEHE2EHIE2X 1,442,741 1,389,152 53,589
OZMAXATHEAE 2L
1,442,741,000& x14] 1,442,741




SN OIFORQI D
3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHeI=X S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 201,984
Al 1,240,757
(S)ZOHAAFAIL AHIAXIR 23,520 25,610 22,090
= 7,0%
Al 16,464
307 gl2to| & 23,520 25,610 2,090
=S 7,05
Al 16,464
11 ARRIS XA E X 23,520 25,610 22,090
OFOHQIMEAIL AT SXIAHIAKI
120,000 1964 23,520
< 7,056
Al 16,464
(D)HMAUNA=AE 2 360,569 360,071 10,498
= 72,114
Al 288,455
307 el2to| & 360,569 350,071 10,498
S 72,114
Al 288,455
10 Al SXAZEE 22X 360,569 360,071 10,498
OBUMRANFAL 2
360,569,000 *10H 2~ 360,569
[ 72,114
Al 288,455
(Z)ZHAHFAILOISUAA NS 2,400 2,772 A372
= 720
Al 1,680
307 elzto| & 2,400 2,772 A372
= 720
Al 1,680
1 AMISXAIEEX 2,400 2,772 A372
OHMAFAIE 0ISA 21H W=x
2,400,000 *14] 2,400
& 720
Al 1,680
(SO AHFAE 2 Y 577,312 480,508 96,804
= 115,462
Al 461,850
307 el2tol & 577,312 480,508 96,804
= 115,462
Al 461,850
10 AlISXAZEE 22X 577,312 480,508 96,804
OFMAIIHFAIE 2E
577,312,000& 104 2~ 577,312




SN OIFORQI D
3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHeI=X S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 115,462
Al 461,850
(E)FUQAAL YA EH 8,775 8,840 265
= 2,633
Al 6,142
307 gl2to| & 8,775 8,840 NB5
=S 2,633
Al 6,142
11 AMISXAIEEX 8,775 8,840 265
OZMQLUAILYAT 4= K&
65,0002 *135% 8,775
< 2,633
Al 6,142
(B)ZHLAFAILCINE SSAHS 199 0 199
= 139
< 18
Al 42
307 glztol & 199 0 199
= 139
== 18
Al 42
11 AMRISXAEEES 199 0 199
OZMHANFAIE CINESSAE
199,000 * 104 2~ 199
= 139
s 18
Al 42
HE2SAHI( A ZO0HI D) (DIEH/IIES) 148,113 156,196 /8,083
el 2| 51,161 56,592 A5,431
el 24| 51,161 56,592 A5,431
101 @124H| 51,161 56,592 Nb,431
03 SRH(RIH )22 U2+ 51,161 56,592 Ab,431
OSRA(RINAHA)2Z2N B 51,161
—JlEs(628)
2,230,610&~1H« 122 26,768
—SE30Hl
2,230,610 x 12 %28 *75% 3,346
—&d2=4 2,230,610 x 12 %23 %30% 1,339
— =S ()
40,0003 ~1 128 480
—AN2t22sE
13,4213 %1500 15A| 2+ x 1 * 122 3,624
—5d2F+
107, 3682 *150%+ 1 60 11,113




SA: LoIE0H et
M. HYSHAH(=QIEONCIN) (DIEHDIEL)
SERRIEESS(T (Shol: &2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
— Xzt 107,368 * 15+ 15 1,611
—Z gAY 140,000 x1H* 123 1,680
—wWSEAH| 100,000 x1F + 122 1,200
=2l %,952 99,604 A2,652
=44l 9%,952 99,604 A2,652
201 Ler23H| 28,912 27,484 1,428
01 AtR2elt] 28,912 27,484 1,428
O=AEX 7 20,0003 *178 = 12& 4,080
OS20H4lH| 9,000 ¥7 A 17H*12& 12,852
Ogiteg 100,000& «12& 1,200
OL71E TA7LI 50,0002 12& 600
OARE =4l 8,140
—=AD| =2l 1,000,000 *1CH 1,000
— gDl 22l
100,000 *4CH*50/100 200
—=A| EY 200,000 *53*1CH 1,000
—ZEEII(E%) EH
200,000& *53 =4 CH 4,000
—maEp| () U
200,000 *53]1CH 1,000
—PC =2l 100,0002 *17CH*20/100 340
—J|Et==cltl 50,0003 *12& 600
OJIEH AtR2t2ld]
10,0002 =179+ 12 2,040
202 bl 63,240 67,320 24,080
01 =LHO4 b 63,240 67,320 A4,080
OZLHOHI 20,0002 x17F * 12+ 122 48,960
O=20y| 120,000 *17Z 7 14,280
203 AR F=&lh| 3,600 3,600
M PA2IHRFALI 3,600 3,600
ORN2ILRFA|
300,000 =12 3,600
204 AR AY| 1,200 1,200
01 MM HRHAY| 1,200 1,200
ORI D22 (L QI R0f I HE)
100,000 x1H 123 1,200




